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Note: Options shown in green color with a tick icorare correct

Q.1 Kanha National Park is located in the state of

A. Uttar Pradesh

B. Madhya Pradesh
C. Rajasthan

D. Uttarakhand
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Q.2 How many of the following numbers are wholly divisible by 175?
500, 875, 1575, 1915, 2625, 2850, 3325, 4335
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Q.3 Hindi Day (Hindi Diwas) is celebrated every year on the

A. 5% of September
B. 20 of October

C. 5% of June

D. 14t of September
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Q.4 The 2016 Summer Olympics will be hosted by which city?

A. Seoul

B. Rio de Janeiro
C. London
D

. Tokyo
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Q.5 The ST unit of pressure is

A. Newton per square centimeter
B. Newton — square meter

C. Newton per square meter

D. Newton — square centimeter
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Q.6 Read the following passage and answer the question based on it.

With climate change affecting the seasonal pattern, water management and distribution has become critical. Rainwater
harvesting has become very important these days particularly in urban areas. It involves collection and storage of
rainwater for use later. It recharges the ground water level, conserves water runoff during monsoons, reduces soil erosion
and helps availability of potable water. Above all, it inculcates a culture of water conservation.

This paragraph best supports the statement that

A. Climate change has affected the humanity adversely.
B. Forests help in preserving ground water level.

C. Rainwater harvesting is the need of the hour.

D. Urban areas do not store enough water.
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Q.7 The state capital of Andhra Pradesh is

A. Hyderabad
B. Amaravati
C. Vijayawada
D. Tirupati
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Q.8 What is the reason for red colour of the soil in certain parts of India?

A. Presence of magnesium
B. Presence of phosphates
C. Presence of ferric oxide
D. Presence of humus
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Q.9 Which of the following when mixed with a metal forms amalgam?

A. Aluminium
B. Gold

C. Silver

D. Mercury
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Q.101f 234 A4 is divisible by 9, find the value of the smallest natural number 4?
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Q.11If A=1, BE = 7 then CUT =?

A. 43
B. 44
C. 45
D. 42

Q.12 Study of maps is called

A. Calligraphy
B. Geography

C. Geology

D. Cartography
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Q.13Ifx =7, y =4, z= 9 then which of the following is true?

L. xty+z=20

I x-y+tz=13

m. x+y-z=3

V. -X+y-z=-12

A TandII
B. III and IV
C.Iand IV
D. T and IIT
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Q.14 Who is regarded as the World’s first programmer?

A. Alan Turing

B. Ada Lovelace

C. Tim Berners-Lee
D. Steve Wozniak
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Q.15 Which Indian state decided to implement Bharat Net service which will connect all the village panchayats through optical
fibre?

A. Maharashtra
B. Punjab

C. Tamil Nadu
D. Uttar Pradesh



Q.16 Which one among the following is not a Fundamental Right as per the Constitution of India?

. Right to Freedom
. Right to Life

. Right to Equality
. Right to Defend the Country
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Q.17 Bhagat Singh and his associates killed the British officer John Saunders to avenge

pe

. the death of Ramprasad Bismil.

B. the death of villagers in the Chauri Chaura incident.
C. the death of Lala Lajpat Rai.

D. the Jallianwala Bagh killings.
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Q.18 Find the factors of (x* + x — 20)

A x+H5HE-49
B. x+4)(x—5)
C. (x—2)(x+10)
D. (x—2)(x+D5)



Q.19 If 60% of a number is equal to two-thirds of another number, what is the ratio of the numbers?

A.10:0
B.15:7
C.10: 14
D.9:11
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Q.20 Who won the IBSF World Snooker Championship 2015?

A. Geet Sethi

B. Pankaj Advani
C. Aditya Mehta
D. Hamza Akbar
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Q.21A question and three statements, labeled (I) (II) and (III), are given. You have to decide whether the data given in the

statements are sufficient for answering the question.

4
Question: What is the length of the rectangle?

Statements:

I. Perimeter of the rectangle is 80 m.
II.  Sum of adjacent sides is 40 m.
III.  Breadth of the rectangle is 10 m.
Pick out the correct option.

A. Only I is sufficient

B. Only I and IT are sufficient

C. III and either of T or II are sufficient
D. II and either of T or III are sufficient
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Q.22 If Vinay had walked 2 km/hr. faster, he would have taken 10 min less to walk 4 km. What is Vinay’s speed of walking?

A, 7km/hr,
B. 5 km/hr.
C. 4 kav/hr.
D. 6 km/hr.
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Q.23 Which number would replace the question mark (?) in the series -
100, 115, 7, 150, 170, 185

A. 135
B. 130
C. 140
D. 145
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Q.24 If stone is called blue, blue is called water, water is called tree, tree is called bag, bag is called rainbow and rainbow is
called sky, what is used to carry books?

A. Tree
B. Rainbow

C. Sky
D. Water
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Q.25If T means “x°, K means ‘+°, L means ‘=" and M means ‘—’, then the value of
1K9L7J7L3MS is
Al
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Q.26 Which doubles pair won the US Open Women’s doubles title in 2015?

A. Y.Shvedova and C.Dellacqua

B. M.Hingis and S.Mirza

C. G.Muguruza and C.S.Navarro

D. Hao-Ching Chan and Yung-Jan Chan
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Q.27 If Mason : Stone then Carpenter :?

A. Saw

B. Furniture
C. Wood
D. Steel
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Q.28 World AIDS day is held every year on

A. 1% of December
B. 1% of January
C. 14t of February
D. 8t of March
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Q.29 The first unmanned satellite built by ISRO was

A. Bhaskara - I
B. Aryabhata
C. Rohini
D

. Megha
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Q.30 A bicycle wheel makes 5000 revolutions in moving 44 km. What is the radius of the wheel? (n=22/7)

A. 140 cm
B. 270 cm
C. 70 cm

D. 120 cm



Q.31 Arrange the fractions in ascending order

A.11/17 <41/63 < 3/7 <21/29
B. 41/63 <3/7<21/29<11/17
C. 3/7<11/17 <41/63 < 21/29
D. 3/7<11/17 < 21/29 < 41/63
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Q.32 Which country has won the maximum Oscar awards till date in the foreign films category?

. Ttaly

. France
. Japan
. Spain
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Q.33 Find the difference between the simple and the compound interest at 20% per annum for 2 years on a principal of Rs. 4000.

A. 160
B. 120
C. 90
D. 110



Q.34 32 men working 6 hours a day can finish a work in 10 days. Working at a rate of 10 hours a day, the number of men
required to finish the work in 12 days is:

A 15
B. 16
C. 17
D. 18

Q.35 Rajesh purchased a cupboard for Rs. 1,200 and sold it for Rs. 900. What is his loss percentage?

A. 30%
B. 75%
C. 25%
D. 40%
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Q.36 Which disease is caused by iodine deficiency?

A. Night Blindness
B. Goitre

C. Scurvy
D. Rickets
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Q.37 Which social media giant launched the ‘Make in India’ emoji in November 2015 to promote India as a global
manufacturing hub?

A. Facebook
B. Twitter

C. Google+
D. Snapchat
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Q.38 A merchant who marked his goods up by 50% subsequently offered a discount of 20%. What is the percentage profit that
the merchant made after offering the discount?

A. 30%
B. 125%
C. 25%
D. 20%

Q.39 Find the similarity in the following:
Dog, Painting, Book, Candle

A. They don’t have any similarity.
B. They are all countable nouns.
C. They are all non-living things.
D. They are all living things.
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Q.40 The mean of the data 10, 9, 8, 7, 10, 16 is

A6
B. 11
C. 12
D. 10
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Q.41 The Indira Gandhi Memorial Tulip garden is situated in

. Chandigarh
Mysuru
Srinagar

. Darjeeling
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Q.42 15 men could finish a piece of work in 330 days. But at the end of 220 days, 15 additional men are employed. In how
many more days will the work be complete?

A. 80 days
B. 60 days
C. 55 days
D. 50 days



Q.43 What decimal of a kilometer is a millimeter?

A. 0.000001
B. 0.00001
C. 0.0001
D. 0.001
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Q.44 What does SONAR. stand for:

. Sound Neutralization and Ranging

. Sound Navigating and Reaching

. Sound Navigation and Ranging

. Sound Neutralization and Reaching
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Q.45 The cost price of 30 articles is equal to the selling price of 40 articles. What is the % profit or loss made in the sale?

A, 20% loss
B. 25% profit
C. 25% loss
D. 20% profit
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Q.46 Rearrange the following jumbled sentences to make a meaningful one:

He

J: a popular tennis player

K: but

L: is also

M: is ranked No.1 in badminton

The proper sequence should be:

A MLKT
B. MKLJ
C. LIKM
D. LMKJ
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Q.47 Which internet giant has launched a training program in Telangana for empowering rural Self Help Groups (SHG) in
promoting their products online?

A. Amazon
B. Flipkart
C. Facebook
D. Twitter
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Q.48If 4515+ 17.5 =258, then 45.15+1.75=?

. 2.58
0.258
258
. 258
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Q.49 A man on tour travels the first 200 km at 50 km/hr. and the next 200 km at 70 km/hr. The average speed for 400 km of the
tour is:

A. 56.5 kin/hr.
B. 60.6 kinvhr.
C. 64.6 km/hr.
D. 58.3 kin/hr.

Q.50 Gopal’s mother is the wife of Mohit’s father's son. Mohit has no brothers and sisters. How are Gopal and Mohit related?

A. Father — Son

B. Paternal Uncle — Nephew
C. Son — Father

D. Grandson — Grandfather
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Q.51 The length and breadth of a rectangle are changed by +15% and by -10% respectively. What is the percentage change in
the area of the rectangle?

A 2.5%
B. 3.0%
C. 3.5%
D. 4.5%
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